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Instructions: A
» Set out work clearly.
o Show all working when required.

e Calculators may be used.

Section A ©1/22
-Section B
Question 1 /12 -
Question 2 - /12
Question 3 /12
Question 4 /12
Total © /70
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Part A
22 Questions — 1 mark each

(Answers only in the Answer Colummn)

Question

Answer

1. Solve dn+10=2

2. Evaluate 8m°

3. State the number of significant figures in, 0.00802

|
|
\ .

4. The speed limit on freeways is 110km/h. What is thls
in metres per second?

2
5. Evaluate 8 3

6. Findtheareaof:  qem

Lem \(O &
Not +o
Scale = s

7. If t=-2, evaluate 5¢2

8.  Write the inequality which is répresented by the graph:

.
>

-3 "o a X
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Part A (cont’d)

Question

Answer

9.

34x3/285

8.7
Do not calculate the answer to your estimate.

Show how you would estimate

10. Find the size of ABC

sealt

& E

11. If I%L cost $1.56 what is the cost per litre?

12. Solve for x: ‘;4-_x1'ﬁ,32 _

13. Angela measured the width of her desk as 65.0cm |
What could the actual width have been?

14. Use the formula V' = %‘i to find ¥ 'when ¢ =2.4x10°
and 7=3.8x107%
Give your answer in scientific notation.

15. Find the radius of the circlée whose perimeter is
157 cm. -

16. Solve 4 = §—

. x—2 x




St George Girls High School

Page 4

Year 9 — Common Test 1 — Mathematics Advanced — 2005
Part A (cont’d)
v Question Answer
R’ (-]
17. |85 _—¢ 15 AC|DF?
4 /&5 B ”
Explain your answer.
Not +o
/'8/3: g
v g

18. Aboyhas x 10¢ coins and y 20¢ coins in his pocket.
Write an expression for the total amount of money in

his pocket? ‘\\

19. Simplify (giving your answer with a positive index)

20. Make y the subject of x=—1—-
I+y .~

21. Calculate th?Q size of PQR
F

22. Find the area of the ‘equilateral triangle.

NO+ +o Ii\

geale
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Part B
Question 1 (12 marks) - Show all working Marks
a) The mass of a bucket full of water is 1475g. When the bucket is half full its mass is
937g. Calculate the mass of the empty bucket. 2
b) p, qandr are integers where p >¢g. For what values of r is: 2
iy pr=gr i) pr<gr

¢) A computer printer brochure reads “Prints at speeds of 22ppm (pages per minute)
black and 15ppm colour™.

(i) How long would this printer take to print a 150 page document of which
35 pages are in full colour? ) 4

(ii) Is this time exact? Explain.
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Question 1 (cont'd) Marks
d) A thunderstorm is occurring 7km from where you are standing. 4

(i) How long does it take for the light from the lightening to reach you (use the
speed of lightis 3 x 10° kmy/second.

(ii) How far is your home from the thunderstorm if your mother tells you it took
15 seconds for the noise from the thunder to reach her after she saw the
lichtening? (Use the speed of sound is 330my/s). Give your answer il kilometres.
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Question 2 (12 marks) - Show all working Marks
a) (i) Convert 0.37kg to mg. 2

(i) Conmvert 37900cm’ to m’

|

%

b) Forthesector: - 4
|

\

i

(i) Find the area. }

‘

(i) Find the perimeter.
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Question 2 (cont'd) Marks

c)

(i) Find the area of the rthombus.

(ii) Calculate the length (/) of each side and the perimeter of the rhombus.

(iii) Find the distance (%) bewveen:the parallel sides.
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Question 3 (12 marks) - Show all working
a) Expand and simplify:

@ (+3)fx-3)

@ (y-3)

(i) x% —(x+1)x-1)

b) Factorise fully

D 7x2y +14xy — 21xy2

@) Sla+ b)-bla+b) -

Marks
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Question 3 (cont'd) Marks
¢) Simplify (give all answers with positive indices) 5

(i)  20a*b? +10a°b>

6
(i) 4x5
8x

6p2q 3><5p3q2
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Question 4 (12 marks) - Show all working
a) Solve the equations:

@) 5(n-2)=3(n+4)

2 3

a+5 a—l;z

(i)

b) Solve and graph the solution on the number line.

6-2x>4
3

Marks
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Question 4 (cont'd) Marks
¢) A boy is 12 years older than his sister. In 4 years time he will be twice her age.
‘Write an equation to represent this information and solve it to find their ages. 3
d) Rearrange the formula to make “R” the subject: 2
P
T'=2|—
R

End of Paper
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¢ Set out work clearly.
o Show all working when required.

¢ Calculators may be used.

Section A w1 /22
. -Section B
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Part A
22 Questions — 1 mark each

(Answers only in the Answer Column)

Question Answer
1. Solve 4n+10=2 Ne-2
2. Evaluate 8m° 5
3. State the number of significant figures in 0;00802 3
plaeholdetS
4.  The speed limit on freeways is 110km/h. What is this 03 in
in metres per second? 3s 9% / 5
-2 {
5. Evaluate 8 3 g
"\
6.  Find the area of: 1em
R oem 80 U”\L
Aot 4o
Scale u S T
2
7. If t=-2, evaluate 5t (; Dl — Y 20
8.  Write the inequality which is represented by the graph:
< o e RS
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Part A (cont’d)

13. Angela measured the width of her desk as 65.0cm
What could the actual width have been?

[4.95 S6S5.0<(S08

Question Answer
3/5%" U
9. Show how you would estimate 34—X872—83 35% \)—5
Do not calculate the answer to your estimate. 9
10. Find the size of ABC
c
Not +o 83° (o
scale R
(s nz’
i B D E
11. If I%L cost $1.56 what is the cost per litre? £l.0Y4
. x — ¥
12. Solve for x: (41-12? 53:213, s
T A uxEs &
Y

£4.95 < 650 <6S.0S

14. Use the formula V' = gzl to find V'when ¢ =2.4x% 106

- \ 10
and ¢=3.8x107%. ‘t.s6x
Give your answer in scientific notation.
15. Find the radius of the circle whose perimeter is
ISﬂ'Cm. 200 = 15 {-17.SCM
XK= =g
16. Solve 4 3
ST oL ey | xt

=
=6

Y ';TI’\( )
w7 \/ /
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Part A (cont’d)
- Question Answer
al .
c Colt. 25 ave eqy
17. Is AC|DF? Lints most be pacatel
A
Explain your answer. Voopp.<s gqual ...
Mot +o
geale F
D
_____________ $
18. A boyhas x 10¢ coins and y 20¢ coins in‘his pocket.
Write an expression for the total amount of money in s
his pocket? _ ( ox xe OU)
(‘ O +2oy) cants
19.  Simplify (giving your answer with a positive index) _wm
=
x o= (Y lngm |
™ x x }:m !
, 1 y=tx
20. Make y the subject of x=-—— | Loy
+y )c[( f’j)—’ =1
x
x Xy =
Y =l
21. Calculate the size of PQR
P R 5
< POR 50
22. Find the area of the ‘equilateral triangle. .
zhUHY KT
T ] {
+ 4o ! h 6
,;Icocplt !l\ = 4v Lt m (}-
pem L e b= VH IR
S
=\ B\rf o
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Part B Question 1 (cont'd) Mark;
Question 1 (12 marks) - Show all working Marks d) A thunderstorm is occurring 7km from where you are standing. 4
a) The mass of a bucket full of water is 1475g. When the bucket is half full its mass is (i) How long does it take for the light from the lightening to reach you (use the
937g. Calculate the mass of the empty bucket. 2 speed of lightis 3x 10° km/second.
(wrs s5=P
X'L @ paf§ =
737 389
- ‘ ST=b , T=2
5
~ . -5
b) p, ¢ and r are integers where p >g. For what values of r is: 2 T =73 3%x10_f
3
Ixlo
@ pr=gr @) pr<gr

Y =0 o f\elj(kKV@

¢ &0
(i) How far is your home from the thunderstorm if your mother tells you it took
¢) A computer printer brochure reads “Prints at speeds of 22ppm (pages per minute) 15 seconds for the noise from the thunder to reach her after she saw the
black and 15ppm colour”. lightening? (Use the speed of sound is 330m/s). Give your answer ih kilometres.
(i) How long would this printer take to print a 150 page document of which
35 pages are in full colour? 4 T=D D=3ST
S poag ole v S =3 30w S
I 7 , =450
e = -
ug oS e+ R 23S = %95 1Cm
> 6"
dotal Hme = ¢ Uy e7mins 3¢S =7 3Lxl0 s
T

(i) TIs this time exact? Explain.
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Question 2 (12 marks) - Show all working Marks
a) (i) Convert 0.37kg to mg. 2
x yjeoe 000
.37 kj =
—=370°00m 9
(i) Convert 37900cm’ to m
23 m
4

b) For t

(i) Find the area.

Az% VAl

- 'LGWQML

(i) Find the perimeter.
P e M;t v

=72 M
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Question 2 (cont'd) Marks
c) 6

(i) Find the area of the rhombus.

frea = 5455y

:f(fou,,‘?.

(ii) Calculate the length (/) of each side and the perimeter of the rhombus.

\
" =INYt+Sokas
=450.2%
* 5.5 em
P =285 %4
= LOUU

(iif) Find the distance (k) between the parallel sides.
A<SY%
=725 sxh

= S4o
s

LT
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Question 3 (12 marks) - Show all working

a)

b)

Expand and simplify:

G (x+3fx-5)
X(x_y)fs(x-s-)
X‘L/ Sy F2o0 =S

$ TS

) (2y-3)
» (a@l = giiTebitb”
= ‘lg‘— njf‘i

(i) x? —(x+1)}x—1)
p SN )
L k&
=3 =% ¥

=

Factorise fully

() 7xZy+14xy—21xp?
72y (x +2.-3¢)
= 7113, ¥y ?_sc7—‘
-';7)(_y()(.‘f‘7.’g‘j)

(i) Sla+b)-bla+b)
(S’—(o)[a +b)

Marks
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Question 3 (cont'd)

¢)  Simplify (give all answers with positive indices)
(@) 20a*b? +10a°5°

loq?bl
— s
IDaSb
=Tab" =G Ao
b

= La

b

(i)

é%x‘
g

6p2q—3 « 5p3q2

br2f

(iii)

Marks
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Question 4 (12 marks) - Show all working Marks Question 4 (cont'd) Marks
a) Solve the equations: 4 ¢) A boy is 12 years older than his sister. In'4 years time he will be twice her age.

Write an equation to represent this information and solve it to find their ages. 3
i 5(n-2)=3(n+4)
lef sigrrs e be X
Shoo 3L o boyS age 4o
1~ Vo =1
e _ 0 ﬂ"\b tl(:)b‘f‘f)
= X
n il Yk =Wt
w=§
. a+5 a-1 ' o siskrs age. §
(ii) T3 =2 bt age. 20
(-] on
3 (a+5> - L(Ow‘l) =1L
3qpS-ra ¥l AT
Saqrl =1L d) Rearrange the formula to make “R” the subject: 2
-1 =17
a % P
b) Solve and graph the solution on the number line. \ 3 T=2 \/% N
6-2x>4 | gould read 6-1n S 7= %(ﬁ
3 . 3 i 7
~WC O _—
ey >—L RT o P " y
76 , ,
_—'{: ,’2_ R = (( P {
— . !
x< -3 ;
] ] é dom, a ] El i [
L+ x

End of Paper



